114

SPARE PARTS

TR
PULL STUD

BTHiR#Ri2E MAS403

M >\e Y 7\ :
q i () A
8 b 0 S|
Y)Y
Zd2 L2 ‘ H 2d2, L2 ‘ H
L1 L1
L FIG.1 FIG.2
- M <« N
0 a5°
Je=eE B T (R By
e R R E % 9 == ==l 13 %
M od2 -2 H 0 | @d2 [:i»‘»% H
k) L1 T L1 8
8
L FIG.3 FIG.4
HAERILEIBB R Comparison table of pull stud
M - >\ BT 7] SK 7J18
B e C RC F A ARBR
a _p'% - N/ T \ stk L
Na*ii ] ff# 0-Ring LI
SaB Lo ‘ o BT30/5K30 u
L1 BT40/SK40 = m o
L FIG.5 BT50/SK50 EEm
Order No.
BT EBAR FIG oD od gd1 ad2 od3 od4 L L1 L2 M H 0
P30T-1 1 16.5 11 7 12.5 - - 43 23 18 M12x1.75 13 45°
P30T-1RC 5 16.5 11 7 12.5 2 - 43 23 18 M12x1.75 13 45°
P30T-2 1 16.5 11 7 12.5 - - 43 23 18 M12x1.75 13 60°
P40T-1 1 23 15 10 17 - - 60 35 28 M16x2.0 19 45°
P40T-1F 2 23 15 10 17 - - 60 35 28 M16x2.0 19 45°
P40T-1C 3 23 15 10 17 4 - 60 35 28 M16x2.0 19 45°
P40T-1RC 4 23 15 10 17 5 60 35 28 M16x2.0 19 45°
P40T-2 1 23 15 10 17 - - 60 35 28 M16x2.0 19 60°
P40T-2C 3 23 15 10 17 4 - 60 35 28 M16x2.0 19 60°
P50T-1 1 38 23 17 25 - - 85 45 35 M24x3.0 30 45°
P50T-1C 3 38 23 17 25 7 - 85 45 35 M24x3.0 30 45°
P50T-1RC 4 38 23 17 25 6 8 85 45 35 M24x3.0 30 45°
P50T-2 1 38 23 17 25 - - 85 45 35 M24x3.0 30 60°
P50T-2C 3 38 23 17 25 7 - 85 45 35 M24x3.0 30 60°
P50T-3 1 38 23 17 25 - - 85 45 35 M24x3.0 30 90°

PARFAITE TOOL CO., LTD.



